EXAMPLE
1.
Open the appellate on
http://nlvm.usu.edu/en/nav/category_g_3_t_2.html
choose  Algebra Balance Scales 

[image: image1.png]Click and drag quantities from bins to balance beam pans to
represent the equation.

3x+1=-5





2.
Click on 




and type in:

3x + 1 = 0x -5

[image: image2.png]Create Problem














(note: 0x  is no longer 












 included)

3.
Place cursor on the blue x box and drag it to the left balance pan.  Repeat


until 3 x’s have been placed.  Now place cursor on the blue 1 box and drag it


to the left balance pan.  Finally, place cursor on the red -1 box.  Drag to the  


right balance pan.  Repeat until there are 5 red balloons on this side of the scale.
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SCALE SHOULD NOW BE BALANCED!!!!

[image: image4.png]Click and drag quantities from bins to balance beam pans to
represent the equation.

3x+1=-5




4.
Click on the 





 below the  scale

5. [image: image5.png]Solve for x using the operations below, keeping the beam
balanced.
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Decide what you want to do to both sides of the equation.  Choose an operation from the blue boxes, then complete by filling the empty box with the appropriate number.

[image: image6.png]Solve for x using the operations below, keeping the beam
balanced.
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6. Decide what operation you need to complete the problem.  Choose from the blue

[image: image7.png]Solve for x using the operations below, keeping the beam
balanced.
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boxes.  Choose the number you need to complete the work and enter it in the empty box.


7. If the problem has been completed correctly, x will be isolated on one side of the
equation and the scale will be balanced.

   8   What value makes the original equation true?  How do you know?


